12: Asset Valuation: Market and Instruments
1: Preliminary Reading Selecting Investments in Global Market
	
	Question ID: 21176
Due to dire financial circumstances, Basler Corporation is unable to meet the interest payments on its most recent income bond issue. The creditors of the bond issue will:


	
	A.
	declare the firm bankrupt and attempt to collect through bankruptcy proceedings.


	
	B.
	simply have to wait and see if the Basler Corporation is able to pay the missed interest payment in the future.


	
	C.
	be permitted to convert the par value of the bonds into equity at roughly 80 percent of the market price.


	
	D.
	require that any pledged assets be sold and the proceeds be distributed to the creditors. 

	
	
	


B

Income bondholders have no legal recourse if a company is financially unable to meet the interest payment. The missed payment goes into arrears and the company cannot make any common stock dividend payments until all arrearages are cleared.
	
	Question ID: 21177
A U.S. dollar denominated bond issued in Germany by a U.S. firm is an example of a(n):


	
	A.
	Eurobond.


	
	B.
	international domestic bond.


	
	C.
	Yankee bond.


	
	D.
	convertible bond.

	
	
	


A

A Eurobond is a bond that is issued in a country different from the one in whose currency the bond is denominated.
	
	Question ID: 21175
Fixed income investments include all of the following EXCEPT:


	
	A.
	eurobonds.


	
	B.
	preferred stocks.


	
	C.
	savings accounts.


	
	D.
	warrants.

	
	
	


D

A warrant is a type of option and does not yield a fixed income.
	
	Question ID: 21180
A large New York bank that holds shares of stock in a Swiss company and sells claims to this company’s common stock in dollar denominations is issuing what type of equity investment?


	
	A.
	Euro Equity.


	
	B.
	American Depository Receipts.


	
	C.
	Global Depository Receipts.


	
	D.
	American Shares.

	
	
	


B

American Depository Receipts (ADRs) represents foreign stocks owned by a subsidiary of a large bank, held in the bank vault, and claims to these stocks are sold to investors.
	
	Question ID: 21178
Investors most often tend to categorize stocks based on:


	
	A.
	size.


	
	B.
	earnings.


	
	C.
	location.


	
	D.
	industry.

	
	
	


D

Investors tend to categorize stocks by industry or lines of business because of the similarities of firms within the same industry.
	
	Question ID: 21179
The most cumbersome way of obtaining foreign common stock is to purchase:


	
	A.
	foreign shares directly from the country the firm is located.


	
	B.
	American Depository Receipts.


	
	C.
	American shares.


	
	D.
	shares of an international mutual fund.

	
	
	


A

The most difficult way to purchase foreign shares is to buy them directly from the country the firm is located. This would require that the transaction be carried out in the foreign currency of that country and then the shares would have to be transferred to the U.S.
	
	Question ID: 21182
Which of the following statements regarding futures contracts is FALSE?


	
	A.
	The remaining payment for the futures contract is made on the delivery date.


	
	B.
	Futures contracts typically require a margin of 20 percent of the total value of the contract.


	
	C.
	Most futures contracts expire in less than a year.


	
	D.
	Futures contracts are actively traded on commodity exchanges.

	
	
	


B

The margin on futures contracts typically runs about 10 percent. The margin is a “good faith” payment made to protect the seller.
	
	Question ID: 21181
Which of the following statements regarding a warrant is FALSE?


	
	A.
	Most warrants can be exercised anytime within its specified life, which typically runs between 5 and 10 years.


	
	B.
	A warrant is a call option to buy shares of stock.


	
	C.
	A warrant does not represent ownership in the company.


	
	D.
	A warrant is issued by an investor expecting the price of the underlying stock to rise.

	
	
	


D

Warrants are issued by corporations, not investors. They are a type of call option that will allow the holder to profit if the underlying stock price rises.
	
	Question ID: 21183
Which instrument may allow an investor to profit from a stock price decline?


	
	A.
	Futures contract.


	
	B.
	Put option.


	
	C.
	Warrant. 


	
	D.
	Call option.

	
	
	


B

A put option allows the buyer to sell a stock at a predetermined price at some specified date in the future. The purchaser of a put option profits by being able to purchase the stock at a low price and subsequently sell it at the higher exercise price.
	
	Question ID: 21186
Which of the following statements regarding investment companies is FALSE?


	
	A.
	Investment companies provide a means of acquiring international securities.


	
	B.
	Investors that purchase shares from an investment company become owners of the investment company.


	
	C.
	An investment company is the same as a mutual fund.


	
	D.
	Investment companies invest exclusively in long-term instruments such as stocks, bonds and real estate.

	
	
	


D

Investment companies are also heavily involved with money market securities. Money market mutual funds are widely popular and consist of investments in short-term securities.
	
	Question ID: 21184
Which of the following statements regarding mutual funds is FALSE?


	
	A.
	A mutual fund represents a diversified investment portfolio.


	
	B.
	A Real Estate Investment Trust, a type of mutual fund, invests funds in properties such as office buildings, malls and apartment complexes.


	
	C.
	To qualify as a mutual fund, the security holdings must be diversified across the total market.


	
	D.
	Money market mutual funds generally yield more than a typical bank savings account or a certificate of deposit.

	
	
	


C

A mutual fund allows individuals to purchase shares of a diversified portfolio, and the proceeds are invested in additional securities. However, the funds do not have to be diversified across the total market. In fact, there are sector mutual funds that sell shares of a portfolio of firms contained within a sector, such as the technology sector.
	
	Question ID: 21185
Which of the following investments is the most liquid?


	
	A.
	Diamonds.


	
	B.
	Real Estate Investment Trusts.


	
	C.
	Coins and Stamps.


	
	D.
	Antiques.

	
	
	


B

Real Estate Investments Trusts are more liquid because they are a type of mutual fund that is somewhat diversified within the real estate sector and an active public market typically exists for their shares.
	
	Question ID: 21189
Which of the following securities is NOT a fixed-income obligation?


	
	A.
	Convertible bonds.


	
	B.
	Preferred stock.


	
	C.
	Collateral trust bonds.


	
	D.
	Warrants.

	
	
	


D

A warrant is a type of option and does not yield a fixed income.
	
	Question ID: 21192
Which type of financial instrument allows investors to hedge against volatile interest rates?


	
	A.
	Financial futures.


	
	B.
	Debentures.


	
	C.
	Warrants.


	
	D.
	Commodity futures.

	
	
	


A

Futures contracts exist that allow investors to hedge against changes in commodity prices, interest rates and currency exchange rates. Debentures are bonds that pledge no specific assets, commodity futures are used to hedge against commodity prices, not interest rates, and warrants options issued by companies to buy stock at a certain price for a certain period of time.
	
	Question ID: 21191
Why should investors invest in foreign securities?


	
	A.
	Transactions cost associated with the purchase of foreign securities is far less than that of the U.S. since most foreign markets are newer and more efficient.


	
	B.
	Empirical evidence indicates that many foreign securities offer a higher rate of return for a given level of risk than U.S. securities.


	
	C.
	Less than half of available investment opportunities lie in foreign markets.


	
	D.
	Foreign security returns are relatively correlated to U.S. security returns.

	
	
	


B

Many foreign securities pay higher rates of return than domestic securities and more than 50% of available investment opportunities lie outside U.S. markets.
	
	Question ID: 21188
Which of the following investments is typically considered to have the highest level of risk?


	
	A.
	Commercial Real Estate.


	
	B.
	Options.


	
	C.
	Art and Antiques.


	
	D.
	Futures.

	
	
	


D

Futures contracts are considered riskier than any of the other investments due to leverage involved. When a futures contract is purchased, only a small proportion of the value of the contract has to be put up as equity, which can serve to magnify gains and or losses.
	
	Question ID: 21190
A portion of a diversified portfolio can be purchased:


	
	A.
	on the fourth market.


	
	B.
	on the London Stock Exchange.


	
	C.
	on the third market.


	
	D.
	through an investment company.

	
	
	


D

Investment companies are more commonly referred to as mutual funds. Investment companies use the proceeds from their investors to buy a diversified portfolio of securities.
1.A: Organization and Functioning of Securities Markets
	
	Question ID: 13842

Which of the following is NOT a characteristic of a well-functioning market?


	
	A.
	Provide few buyers and sellers willing to trade at prices above/below the current price.


	
	B.
	Provide price continuity.


	
	C.
	Provide liquidity.


	
	D.
	All of these choices are correct. 

	
	
	


A

A well-functioning market should provide many not few buyers and sellers that are willing to trade.
	
	Question ID: 21193
Which of the following is NOT a characteristic of a good market?


	
	A.
	Prices adjust quickly when new information is available.


	
	B.
	Reliable information is available on price and volume.


	
	C.
	The market is liquid.


	
	D.
	The market is continuous, allowing transactions to occur at any time the market is open.

	
	
	


D

Characteristics of a good market include: availability of reliable information; liquid market and has price continuity; prices react quickly to new information; low transactions cost.
	
	Question ID: 13845
Which of the following factors does NOT indicate market liquidity?


	
	A.
	Number of shareholders.


	
	B.
	Number of shares traded.


	
	C.
	Number of shares outstanding.


	
	D.
	High price volatility.

	
	
	


D

	
	Question ID: 21194
Which of the following statements regarding primary and secondary markets is FALSE?


	
	A.
	Secondary market transactions support primary market transactions by providing a means of liquidity to investors that wish to sell their security holdings.


	
	B.
	New issues of government securities can be sold on the primary market.


	
	C.
	Prevailing market prices are determined by primary market transactions and are used in pricing new issues.


	
	D.
	Secondary market transactions occur between two investors and do not involve the firm that originally issued the security.

	
	
	


C

Prevailing market prices are determined by the transactions that take place on the secondary market. This information is used to determine the price of new issues sold on primary markets.
	
	Question ID: 13846

Which of the following is a difference between primary and secondary capital markets?


	
	A.
	Both primary and secondary markets relate to where stocks and bonds trade after their initial offering.


	
	B.
	Primary markets are where stocks trade while secondary markets are where bonds trade.


	
	C.
	Secondary capital markets relate to the sale of new issues of bonds, preferred, and common stock, while primary capital markets are where securities trade after their initial offering.


	
	D.
	Primary capital markets relate to the sale of new issues of bonds, preferred, and common stock, while secondary capital markets are where securities trade after their initial offering. 

	
	
	


D

	
	Question ID: 13847

Which of the following statements are FALSE? Secondary markets are important because they provide:


	
	A.
	firms with greater access to external capital.


	
	B.
	investors with continuous information.


	
	C.
	regulators with information about market participants.


	
	D.
	investors with liquidity. 

	
	
	


C

	
	Question ID: 21196
Which of the following statements regarding call and continuous markets is FALSE?


	
	A.
	The New York Stock Exchange sometimes uses call markets to determine an opening stock price.


	
	B.
	In a continuous market trades can occur any time the market is open.


	
	C.
	In a continuous market, dealers determine stock prices rather than by auction in order to avoid interruptions in the market place.


	
	D.
	Call markets may be used to determine a stock price in the event trading is suspended.

	
	
	


C

Stock prices are determined by dealers and by auction in continuous markets. If auction transactions become slow then dealers can act to facilitate transactions and maintain a continuous market.
	
	Question ID: 21195
Which type of market allows trading of stock to occur at specific times and is used to facilitate trading when stocks are not being actively traded or when there are few stocks listed?


	
	A.
	Primary market.


	
	B.
	Call market.


	
	C.
	Pure auction market.


	
	D.
	Dealer market.

	
	
	


B

The call market allows stock to be traded at specific times and is often times used to facilitate trading in newly developed exchanges where trading is thin.
	
	Question ID: 13848

Which of the following statements concerning call or continuous markets is TRUE?


	
	A.
	All financial markets are either call or continuous markets. They cannot be both.


	
	B.
	Call markets are used primarily in smaller markets and to set the opening price in major markets.


	
	C.
	Call markets are markets where trades occur at any time the market is open.


	
	D.
	The price in continuous markets can only be set by dealer bid-ask quotes. 

	
	
	


B

	
	Question ID: 13851

The direct exchange of securities between investors without using an intermediary or the services of a broker is which of the following types of markets?


	
	A.
	over-the-counter market.


	
	B.
	third market.


	
	C.
	fourth market.


	
	D.
	regional exchange markets. 

	
	
	


C

This is the definition of the Fourth Market. Recall that the Third Market is where non-member investment firms can make markets in and trade registered securities without going through the exchange.
	
	Question ID: 21197
What type of transaction allows two investors to trade securities without the use of a broker?


	
	A.
	Regional exchange transaction.


	
	B.
	Fourth market transaction.


	
	C.
	Over-the-counter market transaction.


	
	D.
	Third market transaction.

	
	
	


B

The fourth market refers to transactions that take place between two investors without the use of a broker. Most often this transaction occurs between two institutional investors that want to make a high volume trade without incurring the expensive brokerage fees.
	
	Question ID: 13854

Which of the following statements about US securities markets is TRUE?


	
	A.
	It is against US securities laws to trade exchange traded stocks off the floor of the exchange.


	
	B.
	To be traded on the OTC market a security must be approved by the National Association of Securities Dealers.


	
	C.
	All of these choices are correct.


	
	D.
	The US OTC market is the largest segment of the US secondary market in terms of the number of issues traded. 

	
	
	


D

	
	Question ID: 21198
Members of the exchange who act as brokers but do not work for a specific brokerage firm are referred to as:


	
	A.
	registered brokers.


	
	B.
	exchange brokers.


	
	C.
	floor brokers.


	
	D.
	commission brokers.

	
	
	


C

Floor brokers are independent brokers that help other brokerage firms fill orders when they are unable to handle the volume of orders.
	
	Question ID: 13859

The second tier of the TSE is a(n):


	
	A.
	continuous driven market.


	
	B.
	price driven market.


	
	C.
	order driven market.


	
	D.
	auction driven market. 

	
	
	


C

	
	Question ID: 13858

The NYSE, AMEX and LSE are:


	
	A.
	price driven markets.


	
	B.
	order driven markets.


	
	C.
	dealer driven markets.


	
	D.
	call driven markets. 

	
	
	


A

	
	Question ID: 21200
Randy Smith called his broker, Pam Durbin, and asked her to borrow 100 shares of Zylex Corp. stock. Randy then sold the stock at the current market price of $45 while anticipating that Durbin would be able to buy the stock back for him at a lower price in the future. What type of order did Smith place?


	
	A.
	Special order.


	
	B.
	Margin order.


	
	C.
	Short sale.


	
	D.
	Market order.

	
	
	


C

The objective of a short sale is to borrow securities, sell them at the current market price and then replace them with the same securities purchased at a lower price.
	
	Question ID: 13861

Which of the following steps in process to sell a stock short are FALSE?


	
	A.
	The short seller gets the proceeds of the short sell.


	
	B.
	The seller must inform their broker that the order is a short sale before completing the transaction.


	
	C.
	The seller must return the securities at the request of the lender.


	
	D.
	The seller must borrow the securities from a broker before selling them. 

	
	
	


A

Short sellers DO NOT get the proceeds of the short sell.
	
	Question ID: 21199
An investor can profit from a stock price decline by:


	
	A.
	placing a stop buy order.


	
	B.
	purchasing a call option.


	
	C.
	going long.


	
	D.
	selling short.

	
	
	


D

Short selling provides a way for an investor to profit from a stock price decline. In order to sell short, the broker borrows the security and then sells it for the short seller. Later, if the investor can replace the borrowed securities by repurchasing them at a lower price, then the investor will profit from the transaction.
	
	Question ID: 21202
Which of the following statements regarding regulations governing the short-sale process is FALSE?


	
	A.
	Short sales can only be made when the last change in the market price of the stock has been upward.


	
	B.
	The short-sale process must be completed within a 90-day period.


	
	C.
	If dividends were paid on the stock during the short-sale transaction, the short seller must pay dividends to the investor that loaned the stock.


	
	D.
	The short seller must pay a margin equivalent to the prevailing margin requirement when the transaction is made.

	
	
	


B

There are no regulations regarding a time limit associated with short sales.
	
	Question ID: 13862

Regarding the technical points affecting the short sales of a stock, which of the following statements is TRUE?


	
	A.
	Stocks can only be shorted in a down market.


	
	B.
	All of these choices are correct.


	
	C.
	The short seller must pay all dividends due to the lender of the stock.


	
	D.
	The lender must also deposit margin money to guarantee the eventual repurchase of the stock. 

	
	
	


C

	
	Question ID: 21201
Short sales can only be made when: 


	
	A.
	the last change in the market price has been downward.


	
	B.
	the last change in the market price has been either upward or downward. 


	
	C.
	the last change in the market price has been upward.


	
	D.
	there has been no change in market price.

	
	
	


C

The uptick rule states that a short sale can only trade at a price higher than the previous trade.
	
	Question ID: 21204
Which of the following statements about initial margin requirements is FALSE?


	
	A.
	The margin requirement represents the portion of the transaction that must be paid in cash.


	
	B.
	If the stock price decreases the investors relative margin will decline.


	
	C.
	Historically, initial margin requirements have varied from 25 percent to 100 percent.


	
	D.
	The Federal Reserve Board specifies the minimum margin requirements.

	
	
	


C

Historically, margin requirements have been between 40 to 100 percent. Currently, the initial margin requirement is 50 percent. Note that the maintenance margin, or required fraction of equity compared to the total value of the stock can fall below the initial margin requirements and is currently set at 25 percent. 
	
	Question ID: 13865

If you buy 100 shares of a $50 stock on margin when the initial margin requirement is 40 percent, how much money must you borrow from your broker?


	
	A.
	$2,000


	
	B.
	$5,000


	
	C.
	$3,000


	
	D.
	$4,000 

	
	
	


C

	
	Question ID: 21203
Becky Kirk contacted her broker and placed an order to purchase 1000 shares of Bricko Corp. stock at a price of $60 per share. Kirk wishes to buy on margin. Assuming the margin requirement is 40 percent, how much money does Kirk have to pay up front to make the purchase?


	
	A.
	$0.


	
	B.
	$24,000.


	
	C.
	$60,000. 


	
	D.
	$36,000.

	
	
	


B

The margin requirement represents the amount of money an investor must put down on the purchase. So Kirk must put $24,000 down ($60,000 x .40 = $24,000) and can borrow the balance.
	
	Question ID: 21206
Lynne Hampton purchased 100 shares of $75 stock on margin. The margin requirement set by the Federal Reserve Board was 40 percent, but Hampton’s brokerage firm requires a total margin of 50 percent. Currently the stock is selling at $62 per share. What is Hampton’s return on investment before commission and interest if she sells the stock now?


	
	A.
	-35%.


	
	B.
	-17%.


	
	C.
	-60%.


	
	D.
	-40%.

	
	
	


A

Hampton originally purchased 100 shares at $75 for a total value of $7500. Half of the value ($3750) was borrowed and Hampton paid cash for the other half. The current total market value of the stock is $6200. If Hampton sells her holdings she will have $2450 left after she pays off the loan. Hampton’s return on her original investment is:

$2450/3750 – 1 = 0.65 – 1 = -0.35 = -35%. 
	
	Question ID: 21205
Mark Ritchie purchased, on margin, 200 shares of TMX Corp. stock at a price of $35 per share. The margin requirement was 50 percent. The stock price has increased to $42 per share. What is Ritchie’s return on investment before commissions and interest if he decides to sell his TMX holdings now?


	
	A.
	20%.


	
	B.
	10%.


	
	C.
	40%.


	
	D.
	30%.

	
	
	


C

200 shares x $35 = $7000 Initial Market Value

$7000 x .50 = $3500 cash payment and $3500 borrowed.

The new market value of the stock after price increase is (200 x $42) = $8400. If Ritchie sold his holdings he would have $4900 ($8400 - $3500) left after the loan was paid. So Ritchie’s return on his original $3500 investment is:

$4900/3500 – 1 = 1.4 – 1.0 = 0.40 = 40%. 
	
	Question ID: 13870

An investor buys 200 shares of ABC at the market price of $100 on full margin. The initial margin requirement is 40 percent and the maintenance margin requirement is 25 percent.

If the shares of stock later sold for $200 per share, what is the rate of return on the margin transaction?


	
	A.
	200%.


	
	B.
	500%.


	
	C.
	100%.


	
	D.
	400%. 

	
	
	


D

200 shares at a cost of $100/share is $20,000 (i.e., 200x100).
With a 40% initial margin requirement, the cost of the investment would be $20,000x0.4=$8,000.
When the shares are sold, the portfolio is worth $40,000 ($200x200).
Hence, the rate of return would be [(40,000/8,000)-1]x100 = 400%.
	
	Question ID: 21209
Which of the following statements about the maintenance margin requirement is FALSE?


	
	A.
	The purpose of the maintenance margin requirement is to protect the broker in the event of a large stock decline.


	
	B.
	If an investor's equity falls below the maintenance margin requirement then the investor will receive a margin call.


	
	C.
	The Federal Reserve sets the maximum maintenance margin.


	
	D.
	Generally the maintenance margin requirement is lower than the initial margin requirement.

	
	
	


C

The Federal Reserve sets the minimum maintenance margin and individual investment companies may set higher margins if they wish.
	
	Question ID: 21208
Toby Jensen originally purchased 400 shares of CSC stock on margin at a price of $60 per share. The initial margin requirement is 50 percent and the maintenance margin is 25 percent. CSC stock price has fallen dramatically in recent months and it closed today with a sharp decline bringing the closing price to $40 per share. Will Jensen receive a margin call?


	
	A.
	No, he meets the minimum initial margin requirement.


	
	B.
	No, he meets the minimum maintenance margin requirement.


	
	C.
	Yes, he does not meet the minimum initial margin requirement.


	
	D.
	Yes, he does not meet the minimum maintenance margin requirement.

	
	
	


B

Total original value held by Jensen is 400 x $60 = $24,000.

Amount of equity is 50 percent ($24,000) = $12,000.

Current total value is 400 x $40 = $16,000.

So Jensen’s equity is $16,000 - $12,000 = $4,000 which is 4,000/16,000 = 25% of the total market value. 
	
	Question ID: 21207
Byron Campbell purchased 300 shares of Crescent, Inc., stock at a price of $80 per share. The purchase was made on margin with an initial margin requirement of 50 percent. Assuming the maintenance margin is 25 percent, the stock price of Crescent, Inc. has to fall below what level for Campbell to receive a margin call?


	
	A.
	$30.00.


	
	B.
	$40.00.


	
	C.
	$53.33.


	
	D.
	$20.00.

	
	
	


C

Total value held by Campbell is 300 shares x $80 = $24,000. 

Amount of equity is 50% ($24,000) = $12,000.

(300P - $12,000)/300P = 0.25

300P - $12,000 = 75P

P = $53.33

If Crescent, Inc. falls below $53.33 then Campbell will get a margin call. 
	
	Question ID: 21211
Which of the following is NOT one of the “3 Cs” of block trading?


	
	A.
	Commissions.


	
	B.
	Contacts.


	
	C.
	Commitment.


	
	D.
	Capital.

	
	
	


A

To facilitate effective block trading, block houses must have contacts, enough capital to purchase large blocks of securities, and the commitment necessary to place large sums of money on the transaction.
	
	Question ID: 21210
Which of the following statements regarding the institutionalization of securities markets is FALSE?


	
	A.
	Institutionalization has encouraged the development of a National Market System to improve efficiency.


	
	B.
	Institutionalization has led to the advent of negotiated commissions. 


	
	C.
	Institutional trading has facilitated the creation of block houses.


	
	D.
	Institutional trading has led to increasing stock price volatility.

	
	
	


D

Empirical studies actually indicate that there is no support for the theory that institutional trading leads to stock price volatility.
	
	Question ID: 21212
Which of the following statements regarding the National Market System (NMS) is TRUE?

I. The NMS would allow market makers to compete.

II. All stock transactions in all stock exchanges would be recorded in a centralized reporting system.

III. A central limit order book would be used to record all limit orders placed on all exchanges. 


	
	A.
	II and III only.


	
	B.
	II only.


	
	C.
	III only.


	
	D.
	I, II and III.

	
	
	


D

A NMS is intended to centralize the recording of transactions that occur on all exchanges, the quotation system and the limit order book. It is also likely to allow competition between market makers.
	
	Question ID: 13872

Which of the following is an example of the internationalization of securities markets?


	
	A.
	Consolidation of major stock exchanges.


	
	B.
	More specialized investment companies.


	
	C.
	All of these choices are correct.


	
	D.
	Trading on the Internet. 

	
	
	


C

All of the responses are examples of the internationalization of securities markets.
	
	Question ID: 13852

The trading of exchange registered securities over the counter by non-exchange member firms is called:


	
	A.
	the third market.


	
	B.
	the fourth market.


	
	C.
	the global market.


	
	D.
	block trading. 

	
	
	


A

	
	Question ID: 13855

Agents who act as free-lance brokers for other commission brokers are called:


	
	A.
	floor brokers.


	
	B.
	specialists.


	
	C.
	registered traders.


	
	D.
	commission brokers. 

	
	
	


A

	
	Question ID: 13857

Which of the following statements are TRUE?


	
	A.
	Pure auction markets are order driven markets.


	
	B.
	Pure auction markets are price driven markets.


	
	C.
	Order driven systems and dealer markets are examples of auction markets.


	
	D.
	Dealer markets tend to be price driven markets. 

	
	
	


B

	
	Question ID: 13864

An investor buys 200 shares of ABC at the market price of $100 on full margin. The initial margin requirement is 40 percent and the maintenance margin requirement is 25 percent.

At what price will the investor get a margin call?


	
	A.
	$80.


	
	B.
	$48.


	
	C.
	$100.


	
	D.
	$112. 

	
	
	


A

In a long stock position, the equation to use to determine a margin call is:

long = [(original price)(1 - initial margin %)]/[1 - maintenance margin %]
       = $100(1-0.4)/(1-0.25) = $80 

	
	Question ID: 13843

A good market would have which of the following characteristics?


	
	A.
	All of these choices are correct.


	
	B.
	It would provide liquidity (marketability, price continuity, and depth).


	
	C.
	It would provide timely and accurate information.


	
	D.
	It would provide internal (trading) efficiency and external (informational) efficiency. 

	
	
	


A

	
	Question ID: 13849

A market where trades can occur at any time that the market is open is called a:


	
	A.
	call market.


	
	B.
	dealer market.


	
	C.
	price driven market.


	
	D.
	continuous market. 

	
	
	


D

1.B: Security-Market Indicator Series
	
	Question ID: 13881

In creating a market series index, the effect of low-priced stocks will have the highest relative impact in which of the following weighting schemes?


	
	A.
	Unweighted price series.


	
	B.
	Price-weighted series.


	
	C.
	Market value-weighted series.


	
	D.
	All of these choices are correct. 

	
	
	


A

Low-priced stocks would have little weight in either a price-weighted or market value weighted series. There is a strong correlation between stock price and market capitalization. Low-priced stocks are typically small cap firms. An unweighted price series weights each firm equally. Hence, low-priced firms would have the largest relative impact in an unweighted price series.
	
	Question ID: 21213
Which of the following weighting schemes uses firms’ market capitalization to determine the mean value of the stock index?


	
	A.
	Market value-weighted series.


	
	B.
	Unweighted price indicator series.


	
	C.
	Price-weighted series.


	
	D.
	Capital value-weighted series.

	
	
	


A

The market value-weighted series uses each firm's relative market capitalization (current stock price times the number of shares outstanding) to determine the index value.
	
	Question ID: 13884

If you were to build a portfolio made up of and maintained as an equal dollar amount invested in each stock, your performance would be best measured against a(n):


	
	A.
	value weighted index.


	
	B.
	unweighted index.


	
	C.
	price weighted index.


	
	D.
	additive mix index. 

	
	
	


B

	
	Question ID: 21214
Which of the following weighting schemes will produce a downward bias on the index due to the occurrence of stock splits by firms in the index?


	
	A.
	Unweighted price indicator series.


	
	B.
	Price-weighted series.


	
	C.
	Capital value-weighted series.


	
	D.
	Market value-weighted series.

	
	
	


B

The price-weighting scheme sums the market price of each of the stocks contained in the index and then divides this sum by the number of stocks in the index. Thus if a firm executes a stock split thereby reducing its share price, this will cause a downward bias in the index.
	
	Question ID: 21215
Which of the following statements best describes the investment assumption used to calculate an unweighted price indicator series?


	
	A.
	A proportionate market capitalization is made for each stock in the index.


	
	B.
	An equal dollar investment is made in each stock in the index.


	
	C.
	A proportionate market value investment is made for each stock in the index.


	
	D.
	An equal number of shares of each stock are used in the index.

	
	
	


B

The unweighted price indicator series assumes that an equal dollar investment is made in each stock in the index. All stocks carry equal weight regardless of their price or market value.
	
	Question ID: 13873

Assume a stock index consists of many firms who have recently split their stock. Which of the following weighting schemes will see a bias due to the impact of stock splits?


	
	A.
	Unweighted price series.


	
	B.
	Market value-weighted series.


	
	C.
	Price-weighted series.


	
	D.
	All of these choices are correct. 

	
	
	


C

Firms that split their stock price will have the identical weight before and after the split in both the unweighted and the market value-weighted series. However, in the price-weighted series, large successful firms will lose weight within the index due to simply splitting their stock. This creates a downward bias in a price-weighted series.
	
	Question ID: 13874
Given the following information, calculate the price-weighted and value-weighted returns from March 30, 2000, to April 30, 2000.
As of March 30, 2000
    
As of April 30, 2000
  
Share Price
Number of Shares
Market Value
Share Price
Number of Shares
Market Value
Stock L
$10
1,000
$10,000
$60
1,000
$60,000
Stock M
$20
2,000
$40,000
$40
2,000
$80,000
Stock N
$70
2,000
$140,000
$35
2,000
$70,000
Total
$100
5,000
$190,000
$135
5,000
$210,000



	
	A.
	Price-weighted
Value-weighted
25.9%
9.5%



	
	B.
	Price-weighted
Value-weighted
35.0%
10.5%



	
	C.
	Price-weighted
Value-weighted
35.0%
35.0%



	
	D.
	Price-weighted
Value-weighted
10.5%
35.0%


	
	
	


B

Price-weighted returns are calculated as [(135-100) / 100] x 100 = 35.0% while the value-weighted returns are calculated as [(210,000 - 190,000) / 190,000] x 100 = 10.5%.
	
	Question ID: 21216
What is the price-weighted index of the following three stocks?
As of December 31, 2001
Company
Stock Price
Shares Outstanding
A
$50
10,000
B
$35
20,000
C
$110
30,000
  
  
  


	
	A.
	85.


	
	B.
	75.


	
	C.
	65.


	
	D.
	80.

	
	
	


C

The price-weighted index equals [(50 + 35 + 110) / 3] = 65.
	
	Question ID: 21217
What is the market value-weighted index of the following three stocks assuming the beginning index value is 100 and a base value of $150,000?
As of December 31, 2001
Company
Stock Price
Shares Outstanding
X
$1
5,000
Y
$20
2,500
Z
$60
1,000
  
  
  


	
	A.
	70.


	
	B.
	30.


	
	C.
	100.


	
	D.
	77.

	
	
	


D

The market value weighted index = [(($1)(5,000) + ($20)(2,500) + ($60)(1,000))/$150,000](100)

= ($115,000/$150,000)(100)

= (0.767)(100)

= 76.67 or 77 
	
	Question ID: 21219
Which of the following indexes most closely resembles the market portfolio specified in the capital asset pricing model (CAPM) literature?


	
	A.
	Merrill Lynch Securities Index.


	
	B.
	New York Stock Exchange Composite Index.


	
	C.
	U.S. Capital Market Index.


	
	D.
	Brinson Partners Global Security Market Index.

	
	
	


D

The Brinson Partners Global Security Market Index contains a mix of domestic and foreign equities as well as domestic and international fixed income securities. It is the most diversified benchmark available.
	
	Question ID: 13877

Which one of the following indexes is a price weighted index?


	
	A.
	The Standard and Poor's Index.


	
	B.
	The Nikkei Dow Index.


	
	C.
	The New York Stock Exchange Index.


	
	D.
	The Tokyo Stock Exchange Index. 

	
	
	


B

	
	Question ID: 21218
Which of the following is NOT a reason bond market indexes are more difficult to create than stock market indexes?


	
	A.
	The universe of bonds is much broader than that of stocks.


	
	B.
	The universe of bonds is always changing due to new issues, retired bonds, sinking funds and calls.


	
	C.
	Bond deviations tend to be relatively constant.


	
	D.
	There is a lack of continuous trade data available for bonds.

	
	
	


C

Bond prices are quite volatile as measured by the bond’s duration.
	
	Question ID: 13876

Which of the following sets of indexes are price-weighted?


	
	A.
	Morgan Stanley Capital International Index and S&P 500 Index.


	
	B.
	Dow Jones World Stock Index and Russell Index.


	
	C.
	S&P 500 Index and Dow Jones Industrial Average.


	
	D.
	Dow Jones Industrial Average and Nikkei Dow Jones Stock Market Average. 

	
	
	


D

The Dow Jones World Stock Index, the Russell Index, the S&P 500 Index, and Morgan Stanley Capital International Index are all market-value weighted. Only the Dow Jones Industrial Average and the Nikkei Dow Hones Stock Market Averages are price-weighted.
	
	Question ID: 13883

An index that assumes you make a proportionate market value investment in each company in the index is called a:


	
	A.
	time weighted index.


	
	B.
	unweighted index.


	
	C.
	value weighted index.


	
	D.
	price weighted index. 

	
	
	


C

	
	Question ID: 13885

Security market indexes are used for all of the following, EXCEPT:


	
	A.
	To measure performance over a time period.


	
	B.
	To help in the calculation of firm-specific P/E ratios.


	
	C.
	To help construct index portfolios.


	
	D.
	To help in the study of security price movements. 

	
	
	


B

1.C: Efficient Capital Markets
	
	Question ID: 13891
Which of the following would be inconsistent with an efficient market?


	
	A.
	Price changes are independent.


	
	B.
	Information arrives randomly and independently.


	
	C.
	Stock prices adjust rapidly to new information.


	
	D.
	Price adjustments are biased.

	
	
	


D

	
	Question ID: 13888

Market efficiency is NOT based on which of the following assumptions?


	
	A.
	Market participants always correctly adjust prices when new information is received.


	
	B.
	A large number of profit maximizing participants are analyzing securities independently.


	
	C.
	All of these choices are correct.


	
	D.
	The expected returns implicitly include risk in the price of a security. 

	
	
	


A

Recall that market efficiency does not assume that market participants correctly adjust prices, just that their price adjustments are unbiased.
	
	Question ID: 21220
Which one of the following is NOT an assumption of efficient capital markets?


	
	A.
	Security prices adjust rapidly.


	
	B.
	There are a large number of participants that analyze and value securities independently of one another.


	
	C.
	Risk is included in the pricing of the security.


	
	D.
	Market participants correctly adjust prices when new information is received.

	
	
	


D

Market efficiency assumes that market participants adjust prices rapidly to reflect their interpretation of new information, but not always correctly.
	
	Question ID: 14436
If a firm announces an unexpected large cash dividend, the efficient market hypothesis (EMH) would predict which of the following price changes at the announcement?


	
	A.
	A gradual price change to occur for several weeks after the announcement.


	
	B.
	An abnormal price change to occur at th time of the announcement.


	
	C.
	An abnormal price change to occur before the announcement.


	
	D.
	No price change.

	
	
	


B

	
	Question ID: 14425
The strong-form EMH asserts that stock prices fully reflect which of the following types of information?


	
	A.
	Public, private, and future.


	
	B.
	Market.


	
	C.
	Public and private.


	
	D.
	Market and public.

	
	
	


C

	
	Question ID: 13893

The statement, stock prices fully reflect all information from public and private sources, can be attributed to which form of the efficient market hypothesis (EMH)?


	
	A.
	All of these choices are correct.


	
	B.
	Strong-Form EMH.


	
	C.
	Semi-strong-form EMH.


	
	D.
	Weak-form EMH. 

	
	
	


B

This is the definition of the strong-form EMH. Private sources include insider information, such as persons holding monopolistic access to information relevant to the formation of prices.
	
	Question ID: 13896
The reaction of stock prices to the announcement of a stock split is covered by which form of the efficient market hypothesis (EMH)?


	
	A.
	Weak.


	
	B.
	Semi-weak.


	
	C.
	Strong.


	
	D.
	Semi-strong.

	
	
	


D

	
	Question ID: 21221
Which form of the efficient market hypothesis (EMH) implies that no group of investors can consistently achieve excess returns?


	
	A.
	Semi strong-form EMH.


	
	B.
	Informationally EMH.


	
	C.
	Strong-form EMH.


	
	D.
	Weak-form EMH.

	
	
	


C

Strong-form EMH implies that stock prices fully reflect all public and private information making it impossible for any group of investor’s to consistently out perform the market.
	
	Question ID: 13898

Which of the following tests are NOT used to examine the statistical independence of past returns?


	
	A.
	Runs test.


	
	B.
	Filter rule tests.


	
	C.
	Autocorrelation tests.


	
	D.
	All of these choices are correct. 

	
	
	


B

Both the runs and the autocorrelation tests are used to examine the statistically independence of past returns. Filter rule tests have been conducted to see if investors can earn excess returns following mechanical trading rules based on price data.
	
	Question ID: 14423
The two major tests employed to test the weak-form efficient market hypothesis (EMH) are:


	
	A.
	event studies and runs tests.


	
	B.
	statistical tests and trading rule tests.


	
	C.
	autocorrelation tests and runs tests.


	
	D.
	time series tests and cross sectional tests.

	
	
	


B

	
	Question ID: 13901
If statistical tests of stock returns over time support the efficient market hypothesis the resulting correlations should be:


	
	A.
	positive.


	
	B.
	zero.


	
	C.
	lagged.


	
	D.
	negative.

	
	
	


B

	
	Question ID: 13902
A “runs test” on successive stock price changes which supports the efficient market hypothesis would show the actual number of runs:


	
	A.
	falls into the range expected of a random series.


	
	B.
	is large.


	
	C.
	falls into the range expected of a dependent series.


	
	D.
	is small.

	
	
	


A

	
	Question ID: 14427
A stock's abnormal rate of return is defined as the:


	
	A.
	rate of return during abnormal price movements.


	
	B.
	expected risk adjusted rate of return minus the market rate of return.


	
	C.
	the market rate of return less the actual rate of return.


	
	D.
	actual rate of return less the expected risk adjusted rate of return.

	
	
	


D

	
	Question ID: 21223
Which of the following tests are NOT used to examine the weak form of the efficient market hypothesis? Those that examine:


	
	A.
	whether stock price changes are independent over time.


	
	B.
	whether excess returns can be obtained from using mechanical trading rules.


	
	C.
	a security's return relative to the market return.


	
	D.
	whether security returns are independent over time.

	
	
	


C

	
	Question ID: 21223
Which of the following tests are NOT used to examine the weak form of the efficient market hypothesis? Those that examine:


	
	A.
	whether stock price changes are independent over time.


	
	B.
	whether excess returns can be obtained from using mechanical trading rules.


	
	C.
	a security's return relative to the market return.


	
	D.
	whether security returns are independent over time.

	
	
	


B

Early tests for the semi-strong form of the efficient market hypothesis (EMH) examine security performance relative to the market return. Weak-form EMH tests include auto correlation, run, and trading rule tests.
	
	Question ID: 13906
Tests using quarterly earnings reports are tests of which form of the efficient markets hypothesis (EMH)?


	
	A.
	Strong-form.


	
	B.
	They are used to test all three forms.


	
	C.
	Weak-form.


	
	D.
	Semi-strong form.

	
	
	


D

	
	Question ID: 21222
Which form(s) of the efficient market hypothesis (EMH) is/are tested by measuring a security’s excess returns with respect to market returns while considering the security’s market risk? 


	
	A.
	Semi-strong form.


	
	B.
	Weak and semi-strong forms.


	
	C.
	Weak-form.


	
	D.
	Strong-form.

	
	
	


A

One set of tests for the semi-strong form of the EMH examines security performance adjusted for market risk.
	
	Question ID: 13913
Banz and Reinganum found that small firms consistently outperformed large firms. This anomaly is referred to as the:


	
	A.
	size effect.


	
	B.
	P/E effect.


	
	C.
	large firm effect.


	
	D.
	small firm effect.

	
	
	


A

	
	Question ID: 13912
The opportunity to take advantage of the downward pressure on stock prices that result from end-of-the-year tax selling is known as the:


	
	A.
	end-of-the-year effect.


	
	B.
	end-of-the-year anomaly.


	
	C.
	December anomaly.


	
	D.
	January anomaly.

	
	
	


D

	
	Question ID: 13909

Many academics claim that a particular anomaly's results reflect the inability of the asset pricing model to provide a complete measure of risk. Which of the following anomalies are the academics discussing?


	
	A.
	The neglected firm effect.


	
	B.
	The size effect.


	
	C.
	Initial public offerings.


	
	D.
	Stock splits. 

	
	
	


B

Many academics believe that the size effect is an anomaly due to the capital asset pricing model's (CAPM) inability to provide a complete measure of risk.
	
	Question ID: 13911
Which of the following groups of stocks tend to show above average returns over time:


	
	A.
	all of these choices are correct.


	
	B.
	small stocks.


	
	C.
	neglected stocks.


	
	D.
	low P/E stocks.

	
	
	


A

	
	Question ID: 21225
Studies from which form(s) of the efficient market hypothesis (EMH) provide evidence that security prices adjust so quickly to a public announcement that it is not possible for investors to realize significant abnormal returns after a public announcement has been made?


	
	A.
	strong-form of the EMH.


	
	B.
	semi-strong form of the EMH.


	
	C.
	weak- and strong-forms of the EMH.


	
	D.
	weak-form of the EMH.

	
	
	


B

Event study results provide strong evidence in support of the semi-strong form of the EMH. However, time series and cross-sectional tests provide mixed evidence of semi-strong form efficiency.
	
	Question ID: 13914

Which of the following statements describes the overall conclusions regarding the weak-form of the efficient market hypothesis (EMH)?


	
	A.
	Stock exchange specialists using monopolistic information contained in the limit order book derive above average returns.


	
	B.
	Corporate insiders and exchange specialists have monopolistic access to highly valuable information.


	
	C.
	Most evidence indicates that after incorporating trading costs, simple trading rules do not generate positive abnormal profits.


	
	D.
	All evidence indicates that simple trading rules generate positive abnormal returns. 

	
	
	


C

Positive returns cannot be obtained thru the use of simple trading rules, since this pertains to the weak-form EMH.
	
	Question ID: 21224
Which of the following statements regarding capital market efficiency is TRUE?


	
	A.
	Event studies and time series tests provide evidence that markets do not tend to be semi-strong form efficient.


	
	B.
	Study results indicate the use of trading rules are able to consistently beat a buy-and-hold policy even when trading commissions are considered.


	
	C.
	Study results generally do not support the strong form of the efficient market hypothesis.


	
	D.
	Corporate insiders and stock exchange specialists have monopolistic access to information that can be used to obtain positive abnormal returns.

	
	
	


D

In general, study results support the strong form of the efficient market hypothesis. Exceptions include corporate insiders and exchange specialists since they appear to have monopolistic access to important information that may allow them to achieve positive abnormal returns.
	
	Question ID: 13916
The performance of professional money managers taken as a whole has been:


	
	A.
	better than a simple buy and hold strategy.


	
	B.
	above average.


	
	C.
	below average.


	
	D.
	a support for semi-strong form of the EMH.

	
	
	


C

	
	Question ID: 14429
Research has revealed that the performance of professional money managers compared to the performance of the market is:


	
	A.
	inferior.


	
	B.
	equal.


	
	C.
	slightly better.


	
	D.
	superior.

	
	
	


A

	
	Question ID: 21226
Which of the following actions is most likely to give an analyst superior results?


	
	A.
	Maintain a portfolio comprised of about half large blue-chip stocks and half mid-cap stocks.


	
	B.
	Having superior abilities to identify patterns of returns based on historical data of economic factors and being able to determine the relationship between a stock return and certain economic factors based on historical data and then use that relationship to make reliable forecasts for future price movements.


	
	C.
	The ability to react very quickly to public announcements.


	
	D.
	A strong ability to interpret and estimate the future impact of publicly available information.

	
	
	


D

An analyst cannot obtain superior results by relying on historical data. The analyst must be able to do a superior job of interpreting and estimating variables that are relevant to the value of the security.
	
	Question ID: 21227
Assuming market efficiency, which of the following statements regarding technical and fundamental analysis is FALSE?


	
	A.
	Analysts should be focused on determining which variables are the most relevant to security value and then do a superior job of estimating these variables.


	
	B.
	Evidence indicates it is possible to obtain superior returns by investing in mid-cap firms since they tend to be followed by fewer analysts.


	
	C.
	The only way to obtain superior results using historical data is to perform a top down analysis examining first the market, then the industry and then individual firms.


	
	D.
	Technical analysis that relies exclusively on historical data has no value.

	
	
	


C

Assuming market efficiency, any approach, including a top down approach, will not produce superior results as long as it relies exclusively on historical data.
	
	Question ID: 21228
Which of the following statements does NOT describe the role of a portfolio manager in perfectly efficient markets? Portfolio managers should:


	
	A.
	quantify client's risk tolerance, communicate portfolio policies and strategies, and maintain a strict buy and hold policy avoiding any changes in the portfolio in order to minimize transaction costs. 


	
	B.
	help clients minimize taxes and reduce trading turnover.


	
	C.
	construct a portfolio that includes financial and real assets.


	
	D.
	construct diversified portfolios that include international securities in order to eliminate unsystematic risk.

	
	
	


A

A portfolio manager should quantify each client's risk tolerance and communicate portfolio policies and strategies. However, portfolio managers should monitor client's needs and changing circumstances and make appropriate changes to the portfolio. Adhering to a strict buy and hold policy would not be in the client's best interest. Portfolios need to be rebalanced and changed to meet client’s changing needs.
	
	Question ID: 13917

In a perfectly efficient market, portfolio mangers should do all of the following EXCEPT:


	
	A.
	All of these choices are correct.


	
	B.
	monitor their client's needs and circumstances.


	
	C.
	rebalance their portfolio when changes are necessary.


	
	D.
	diversify to eliminate systematic risk. 

	
	
	


D

Portfolio mangers cannot eliminate systematic risk (i.e., market risk) thru the use of diversification. Portfolio managers should try and eliminate unsystematic portfolio risk.
	
	Question ID: 13918
The implication of efficient capital markets and a lack of superior analysts have led to the introduction of :


	
	A.
	index funds.


	
	B.
	January funds.


	
	C.
	balanced funds.


	
	D.
	futures options.

	
	
	


A

	
	Question ID: 13907
Which of the following has NOT been involved in a direct test of the semi-strong form of the efficient market hypothesis (EMH)?


	
	A.
	Stock splits.


	
	B.
	NYSE Specialists’ returns.


	
	C.
	New issues.


	
	D.
	Exchange listing.

	
	
	


B

	
	Question ID: 13887

If the efficient markets hypothesis is true, portfolio managers should do all of the following EXCEPT:


	
	A.
	Spend more time working on security selection.


	
	B.
	Work more with clients to better quantify their risk preferences.


	
	C.
	Diversify on a global basis.


	
	D.
	Minimize transaction costs. 

	
	
	


A

	
	Question ID: 14430
Under the EMH, the major effort of the portfolio manager should be:


	
	A.
	to help clients underperform the market benchmark.


	
	B.
	to achieve complete diversification of the portfolio.


	
	C.
	to maximize transactions costs.


	
	D.
	all of these answers are correct.

	
	
	


B

	
	Question ID: 14433
An analyst has gathered the following data about a stock:
· A Beta of 1.25 

· An actual return of 10.5 percent 

· The market rate of return is 6 percent 

Compute the stock's abnormal return.


	
	A.
	3%


	
	B.
	5%


	
	C.
	4%


	
	D.
	2%

	
	
	


A

	
	Question ID: 13897
The conclusion that technical analysis adds no value:


	
	A.
	is not supported by fact.


	
	B.
	supports the weak form of the EMH.


	
	C.
	contradicts the strong form of the EMH.


	
	D.
	none of these answers are correct.

	
	
	


B

	
	Question ID: 13899
“Runs tests” involve which form of the efficient markets hypothesis (EMH)?


	
	A.
	Strong-form.


	
	B.
	They are used to test all three forms.


	
	C.
	Semi-strong form.


	
	D.
	Weak-form.

	
	
	


D

	
	Question ID: 13915

The implications of stock market efficiency for fundamental analysis indicates that using the top-down approach to analyze a firm will yield:


	
	A.
	superior returns using past and current information.


	
	B.
	returns that are not superior if the analysis only looks at past and current information.


	
	C.
	superior returns using only past information.


	
	D.
	superior returns compared to a randomly selected buy-and-hold portfolio of stocks. 

	
	
	


B

The evidence is that fundamental analysis does not lead to superior returns using the top-down approach if the analyst uses only past and current information. The analyst's job has to be directed towards doing a superior job of estimating the variables that cause long-run trends in realized returns.
	
	Question ID: 13903
A trading rule which signals purchase of a stock if it rises X percent and sale of stock if it falls X percent is known as a:


	
	A.
	short sale.


	
	B.
	sieve.


	
	C.
	breakout.


	
	D.
	filter.

	
	
	


D

	
	Question ID: 14431
Which of the following efficient markets studies suggests that securities markets are semistrong-form efficient?


	
	A.
	Short-term stock splits.


	
	B.
	Dividend yield studies.


	
	C.
	Neglected-firm effect.


	
	D.
	Small-firm effect.

	
	
	


A

	
	Question ID: 14437
Which of the following is NOT one of the three assumptions that underlie an efficient capital market?


	
	A.
	Investors adjust their estimate of security prices slowly to reflect their interpretation of the new information received.


	
	B.
	A large number of profit maximizing participants are analyzing and baluing securities independent of each other.


	
	C.
	The expected returns implicitly include risk in the price of the security.


	
	D.
	New information comes to the market in a random fashion, and that the timing of the news announcements are independent of each other.

	
	
	


A
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